
   A =(aij)5x5    

 
aij = j + 5(i − 1) 

 

  A(2, :), A(:, 5)   A(:,:) 

  A(1, 1 : 2 : 5) 

 A(3 : −1 : 1 , 5 : −1 : 3) 

 

 

Quersumme

y 1

0

𝑀 = [
8 3 6
4 8 7
4 9 5

] ⟶  y = [0 0 1]

∑ 𝑆𝑝𝑎𝑙𝑡𝑒1 ≠ ∑ 𝑍𝑒𝑖𝑙𝑒1 → 𝑦(1) = 0

∑ 𝑆𝑝𝑎𝑙𝑡𝑒2 ≠ ∑ 𝑍𝑒𝑖𝑙𝑒2 → 𝑦(2) = 0

∑ 𝑆𝑝𝑎𝑙𝑡𝑒3 = ∑ 𝑍𝑒𝑖𝑙𝑒3 → 𝑦(3) = 1

 
 

sum size

 



 

function v = f1(x,n) 

v = zeros(n,1); 

for i = 1:round(n/2)+3x 

v(i) = n * x; 

end 

function x = f2(b) 

if (cos(b)^2-(sin(b+1)))*b)> 0 

x = 1 

else 

x = 0 

end   

function acht = f3(neun, eins) 

v = [eins;3.14]; 

zwei=round(v(2)); 

if pi > v(zwei) 

drei = 1 + zwei; 

else 

fuenf = 2 + zwei; 

end 

acht = drei + fuenf;  

function y = f4(b) 

y = 1; 

while x + y < 10 

x = y + 1; 

y = x + y; 

end 

 
 

function beta=f5(alpha) 

if length(pi) = length(2*pi) 

beta = -alpha; 

elseif length(pi) < length(2*pi) 

beta = +alpha; 

else 

beta = alpha+alpha/2; 

end 

end  

function x=f6(u) 

if length(u+f6) > 3 

x=u+log10(u); 

else 

x=u-log10(u); 

end 

end 

 

function x=f7(t) 

x=zeros(length(t),length(t)); 

for i=1:size(x,1) 

for j=i:length(t)+1 

x(i,j)=t(j); 

end 

end 

end  

function x=f8(y) 

f=y+3; 

x=sqrt((2+y)/(cos(3*f)+y))+1; 

x=x+1; 

end 

 
 

function x=f9(y) 

h=y+3; 

x=sin((2+y/ln(h))/(tan(h*z)+pi)); 

x=x+1; 

end 

 

function x=f10(s) 

if length(s) > 3 

x=1; 

else 

x=0; 

end 

end  

  



function x=f11(w) 

for i=1:length(w) 

w(i)==w(i)+log(w(i)); 

end 

x=w;  

function x=f12(y) 

z=y + factorial(5); 

x=diff((log(y))/((pi*z)+y)+1); 

x=x+1; 

end  

 

 

 

:

 

Eratosthenes

rem

 

 

 


